(Open book)

Name:                    Dept.:         Year:          ID No.:  
1. (15%)  After “run length encoding”, which sentence will result in the smaller file? 
a. 台大台大台大台大台大台大台大台大台大台大台大台大台大台大台大台大台大台大台大台大台大台大台大教授教授教授教授教授教授教授教授教授教授教授教授教授教授教授教授教授教授教授教授教授教授教授教授教授
b. 台灣大學助理教授邱奕鳥助理教授邱奕鵬等
2. (15%)  LZ77 from the sentence台灣大學助理教授邱奕鳥助理教授邱奕鵬等
can be 

  a. 台灣大學助理教授邱奕鳥助理(7,3, 鵬)(1,1,等)

  b. 台灣大學助理教授邱奕鳥(7,6, 鵬)(0,0,等)
3. (15%)  Fill the blank with “0” or “1” to get a bit stream of ODD parity. 
  (1101 0010 0101 0110
4. (15%)  If the binary representation of 50 (D) = 0011 0010 (B), then 

[image: image1.wmf]Fig. P7

51 (D) =                    (B).
5. (15%)  2 1/4 (D) = 2.25 (D) can be expressed in terms of binary coding as 

a. 10.01

b. 1.01

c. 1.1

6. (10%)  What is the next state of the flip-flop 

in the right figure?  ( 0 or 1 )

7. (15%) Binary addition using patterns of length four

If 2+5=7 can be operated by
0010 (2)
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+)  0101 (5)
    0111 (7)    

then 4+6=  ?
0100 (4)

+)  0110 (6)
    ???? (?)       

(Hint: a negative number 

due to overflow)
